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FINAL EXAM

INSTRUCTIONS:


Answer all questions.  It is essential that you explain the reasoning behind your answers rather than just give the answers themselves.  Be as brief, but as rigorous, as possible.  Be sure to use graphs in your analysis where appropriate.  The exam has a total of 40 points, with points for each question in parentheses.

My name is __________________________________________





(print)

I have neither given nor received inappropriate aid on this work.  Nor have I observed any academic misconduct on the part of others pertaining to this work.



_____________________________________________________





(signed at the end of the exam)

Potentially Helpful Formulas:

Beta definition

Textbook Formula WACC

βJ = Cov (rJ,rM) / σ2M
WACC = VD/(VD+VE) * E(rD) * (1-τC) + VE/(VD+VE) * E(rE)

CAPM Security Market Line Equation:

E((rJ ) = rF + βJ * [E(rM)- rF]

Dividend Discount Model with Constant Growth:

P0 = DIV1 / (r-g)

Present value of an N period annuity:

PV = A* [1-(1+r)-N)]/r

Growth Rate in dividends given constant plowback ratio and Return on Equity:

g = b*ROE

Return on Equity for year t

ROEt = Earningst / Book Value of Equityt-1
I. (5 points)  Some evidence in the finance academic literature suggests that markets are not semi-strong form information efficient.  
A) Give an example of a situation where the academic evidence suggests that the market price of an industrial firm’s stock (NOT a closed-end fund’s shares) is either too high or too low. What trading rule would produce abnormal returns in this situation?

B) Is there a way for a firm to change its capital structure so that it exploits the information inefficiency you talk about in part A to enhance the wealth of its current shareholders?  If so, how would the firm do this and how and why would shareholder wealth increase?  If not, why not?

II. (6 points)  A) What is greenmail?

B) What is a standstill agreement?

C) Do firms generally use a standstill agreement and greenmail at the same time?  If so, why?  If not, why not?

III. State whether the following four statements are True, False, or Uncertain.  If some parts of the statements are true, but other parts are not, be sure to indicate precisely where, how, and why the argument breaks down.  In any case, even if the statement is true, be sure to explain the reasoning behind your answer completely.

A) (4 points) "One of the effects of a merger is that the debt of the combined company is typically less risky than the debt would have been if the companies had stayed separate.  For this reason, and even in a world with no taxes and no costs of bankruptcy, shareholder wealth should increase when firms without operating synergies (but with risky debt outstanding) merge."
B) (3 points) “The primary determinant of firm value is the real investment decision that the firm undertakes.  Capital structure differences will not influence that value by more than 1-2%.”

C) (3 points) “Stock repurchase increases earnings per share.  This increased earnings results in an increased share price through the application of a market-determined P-E ratio.”

D) (4 points) “Under Modigliani and Miller’s assumptions, not only is firm value unchanged when dividend policy changes, but every individual shareholder is indifferent to the change.  In the real world, however, dividend clienteles are present.  Thus, even in cases where overall firm value is unchanged by a dividend policy change, individual shareholders are likely to care about the change.” 

IV. (7 points) Corporate raider Lisa Fulim is planning to acquire control of Diffuse Corporation.  Diffuse currently has no single shareholder, including its CEO, that owns more than a 0.5% proportion of its stock.  Ms. Fulim reasons that with an ownership stake so low, Diffuse’s CEO is likely to be operating the firm inefficiently.  She thinks that if she acquires control, she can install herself as a CEO owning a substantial fraction of firm shares and therefore bring about an increase in stock price.

A) Discuss reasons that suggest that stock price will rise if Fulim carries out her plan.  (Be precise and complete.)

B) Are there any reasons that suggest that stock price will fall if Fulim acquires control?  If so, what are they?  

C) Fulim does not plan to be a long term shareholder of Diffuse.  After the rise in price that she expects, she plans to sell her shares, and reinvest the profits elsewhere.  Do you think that Fulim’s plan to capture profit will work?  (Relate the answer here to your reasoning in A and B.) 

SPECIAL MULTIPLE CHOICE INSTRUCTIONS: The following three questions are multiple choice-- circle all correct answers.  Note that any number of answers may be correct, from zero to all.


No explanation is necessary for full credit.  You may give explanations if you wish, but you may lose as well as gain points from them.  In any event, the explanations should be no longer than two sentences.  

V. (5 points) In discounting cash flows for real investment projects undertaken by Endeavor Corporation, the correct discount rate to use is 

A) Endeavor’s WACC (textbook formula) if the project’s cash flows are measured without taking into account the depreciation tax shield.

 B) Endeavor’s WACC (textbook formula) if the project cash flows are before all taxes and involve no change in the total dollar amount of Endeavor debt outstanding.

C) Endeavor’s cost of equity capital if the project is all equity financed.

D) Endeavor’s cost of debt if the project is all debt financed.

E) lower than Endeavor’s cost of debt if the project is all debt financed and the debt is risky.

F) dependent on the riskiness of the cash flows to the particular project regardless of the source of financing . 

VI. (3 points) Assume that managers make decisions for firms that maximize shareholder wealth.  Then a firm with risky debt outstanding

A) will undertake some negative net present value projects if the projects increase the overall riskiness of firm cash flows.

B) will reject some positive net present value projects if the projects reduce the overall riskiness of firm cash flows.

C) will take real investment projects that minimize the probability of financial distress, because stockholders get zero if the firm goes bankrupt.

D) will call in the debt, if the debt is callable and the firm has enough cash to exercise the call provision.

